9.11

1) y=x*>-2x—-8
y — inter: (0,—8)
x —inter:0 = x> —2x — 8
O=x—-4Hx+2)
x—4=0 x4+2=0
+4 +4 -2 -2
x=4 x==2

(4,0), (—=2,0)
vertex: x =%=§= 1

y=(1*-2(1)-8

y=1-2-8

y=-9

(1,-9)

3) y=2x?—-12x+10

y — inter: (0,10)

x —inter:0 = 2x? — 12x + 10
0=2(x%-6x+5)
0=2x—-5(x-1)

x—=5=0x-1=0
+5 +5 +1 +1

x=5 x=1
(5,0) (1,0)
vertex:x:£22= 3
2(2) 4

y =2(3)2-12(3) + 10
y=209)—-36+10
y=18-36+10

y =-—8

(3,-8)

5) y=—-2x%+12x—18
y — inter: (0,10)
x —inter:0 = —2x? + 12x — 18
0=-2(x%?—-6x+9)
0=—2(x — 3)2
x—3=0
—¥3F3
x =3
(3,0)

-12 -12
vertex:x = =—=3
2(=2) -4

(=2,0) (4,0)
(0' _8)
(1,-9)

(0,10)

(1,0)[ (3,0)
(3,-8)
(3.0)
(0,—18)




y=-2(3)?2+12(3) - 18
y=-2(9)+36—-18
y=-18+36—18
y=0

(3,0)

7) y=—-3x%+24x —45

y — inter: (0,—45)

x — inter: 0 = —3x?% + 24x — 45
0=-3(x%—8x+15)
0=-3(x-5)x-3)

x—5=0 x-3=0
+5 +5 +3 +3
x=5 x =3

(5,0) (3,0)
vertex:x = —= =24 _4
2(-3) -6

y = —=3(4)% + 24(4) — 45
y = —3(16) + 96 — 45

y =—48496 — 45

y=3

(4,3)

9) y=—x2+4x+5

y —inter: (0,9)

x —inter:0 = —x*> +4x +5
0=-1(x%?—-4x-05)
0=—-1(x—-5)(x+1)

x—5=0 x+1=0
+5 +5 —1 -1
x=5 x=-1
(5,0) (-1,0)

-4 -4
vertex:x = =—=2
2(-1) -2

y=-(2)2+4(2)+5
y=—-4+8+5
y=9

(2,9

11) y=-x2+6x—-5

(43)
N\ (5,0)
(3,0)
(—45,0)
(2,9
(0,5)




y — inter: (0,—5)

x —inter:0 = —x%+6x—75
0=—-1(x?2—6x+5) (3,4)
0=—-1(x—-1(x-5)
x—1=0 x—5=0 (1,0) (5,0)

+1 +1 +5 +5
x=1 x=05

(1,0) (5,0)
-6 -6
vertex:x = -2 (0,-5)

y=—-(3)?%+6(3) -5
y=-94+18-5
y=4

(3.4)

13) y = —2x? + 16x — 24
y — inter: (0, —24) (4,8)

x —inter:0 = —2x% + 16x — 24
0=-2(x?—-8x+12)

0=—2(x —2)(x — 6) (2,0) 6,0)

x—2=0x—-6=0
+2 +2 +6 +6
x=2 xX=6

(2,0) (6,0)
vertex:x = —2 =0 _ 4
2(-2) -4
y = —2(4)2 + 16(4) — 24 (0, —24)

y =-2(16) + 64 — 24
y=-32+64-24
y=28

(4,8)

15) y =3x2 4+ 12x + 9
y —inter: (0,9) (0,9)

x —inter:0 = 3x% + 12x + 9

0 =3(x%+4x+3)
0=3(x+1D(x+3)

x+1=0 x+3=0 (=3,0) (=1,0)
-1 -1 -3 -3 \/
x=-1 x=-3 (=2,-3)

(=1,0) (=3,0)
vertex:x = -z 1z -2
2(3) 6

y =3(=2)2+12(-2) + 9




y=3(4)—24+9
y=12—-24+9
y=-3
(=2,-3)

17) y = 5x% — 40x + 75

y — inter: (0,75)

x — inter:0 = 5x? — 40x + 75
0=5(x%—-8x+15
0=5(x—3)(x—5)

x—3=0x-5=0
+3 +3 +5 +5

x =3 x=5
40 _ 40 _,

vertex:ﬁ ==
y =5(4) —40(4) + 75
y =5(16) — 160 + 75
y=80—-160+75
y=-=5
(4,—5)

19) y = —5x2 — 60x — 175
y — inter: (0,—175)
x — inter:0 = —5x2? — 60x — 175
0 = —5(x% + 12x + 35)
0=-5(x+5)x+7)
x+5=0 x+7=0
-5 -5 -7 =7
x=-5 x=-7

60 60
vertex:x = =— =
2(=5) -10

y = =5(—6)% — 60(—6) — 175
y = —5(36) + 360 — 175

y =—180+ 360 — 175

y=>5

(=6,5)

(0,75)
0,3) (0,5)
\j (4,-5)
(=6,5)
=700 \(=5D)
0,—175)




